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A corporation is a complex legal entity organized around the
principals of balancing risk and profitability, while increasing in value for its
stockholders—those members of the public, who through the purchase of
shares, help finance operations. A variety of financial instruments, such as
bonds and long-term credit, provide further funding, but it is the selling
of publically traded stocks that necessitates management by a board of
directors, compliance with a myriad of governmental regulations, strict self-
policing to prevent insider trading, and intense scrutiny of profit and loss

statements and other forms of financial reporting.
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' PROFIT AND

LOSS &%=

The Profit and Loss Statement
IEmic Go

The bottom right chart illustrates g~ <f= = = = = = = = = = -

the break-even point’ of any S g
business. As you can see, the break- w-4-------
even point is the point in the annual i RS
output’ where the number of units I: : : ______

sold, or number of services provided,

produces enough gross’ profit’ to
cover total costs, including fixed’
overhead® costs’ of operations.

|.OSS8 occurs whenever

th &k TR o

fixed costs exceed sales’. Break-Even Point Representuﬂon

Profit occurs whenever sales

exceed total costs. As you $60.000 1 _ }m
can see in the right graph, ﬂ«é}_ $50,000 -
the break-even point for this % 8 £40,000 -
i B & 10,000 o
company is reached when l{@ _____ "
5,000 units are sold. It is at % $20000 - -
this point that total sales ““"”’“I*

(or gross profit) equal total O 300 5000 7500 10000 12500

costs. Now we’ll look at a Units Sold
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Profit and Loss Statement .
A P&IL statement starts with the gross income"'. Any discounts or

allowances are subtracted to arrive at net'” income. Cost of sales (in this case,



purchases and shipping) is then P&.L Statement #:5%

taken to give gross profit. Gross Total sales #@g 340,000
profit margin is calculated as gross Purchases 120,000 g
profit divided by total sales. Shipping & 13,500 iy
e
T Total cost of sales 133,500
Overhead (Wh'ICh mcludes' prpaarg
rent for your premises, marketing Gross profit | 206,500
cost.s, wages, tel.ephone, postage, Gross profit margin —_ o
stationery, etc.) is then subtracted. EFI% -
The remainder is operating profit. Overhead costs #&&4%H 150,000 g
(Burn rate E&45ER) T
Tax is then taken away from Operating profit 56,500 :
operating profit to arrive at net bl %
- Tax 72 14,000
profit or loss. You may now calculate ' 8
your net profit margin as net profit Net profit 57/ 22l a
divided by total sales. Net profit margin ;$#/=% 12.5% 18
ot

By looking at both the break-even point and the profit and loss statement,
you can get a quick feel for the basic economics underlying profit and loss of a
corporation. In the next section, we will look at stocks and how they affect the
profits and loss of a company.
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Vocabulary

Vocabulary Builder
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1. break-even point (n. phr)
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3. gross [gros] (a)
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[aut,put] (n)

2. output

Bl ER ERLERED  ERTEHER
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4. profit [prafit] (n)
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5. fixed
BIER - A2EEREREMEBAIREE

[fikst] (a)

6. overhead (burn rate) [‘ove'hed] (n)
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-5 shipping & -

7. cost [kost] (n)

R - SRR ERRNRESHS - I8
STHRISER

9. sales [selz] (n)

HER  EEXELERNSBEES - 5
ZUROFRIR ~ EUR -

11. income (revenue) [n kam] (n)

s (BA) - HERRSHOEEEMEEM

Additional Vocabulary

8. loss (deficit) [l1os] (n)
Bk (FF)  BRABERAR S EAEEE -

10. profit and loss statement (n. phr)
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13. gross margin (n. phr)
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DEmB A EERT a2t - ENXRERE
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salary ik

14. volume [‘valjom] (n)
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1.

Useful Sentences

BRI

B

Total Sales is similar in meaning to Gross Income.
HERFENSELEWAEU

Shipping is similar in meaning to Delivery.

SER L B A o delivery date A&

Overhead has a different meaning from Wages.
REMER (NEEHER) WEZNHEARR o

Loss and Deficit are similar in meaning.
BRNRFEERMEM -

Output and Income are not similar in meaning.
ELMBAEELAMER o

The burn rate of a company needs to be calculated as a loss.
NRIBEREFER R B FTANRE) AREMSEERIFE -

Gross income is the same as total income before subtracting taxes paid.
EWAFRERBEBFRAIRUN ©

Net profit is calculated as profit after all costs and taxes have been paid.
RS ST RITA B EREAIRE

“Fixed costs” and “overhead” are other ways of saying “burn rate.”
"EERA, N TRELER, B TEDEREE, MEMTE -

10. A loss is the amount by which costs exceed income.
RRABIBII N & Z= BRI 518 o

V delivery &K ; &%
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take away multiply by  divide by arrive at

include subtract be multiplied be divided by equal
plus minus by give you
i
deduct Imes remainder

v-

HEEF N IGE

EHE A

1+10 Add 1to 10.1 /1010

price x output Multiply price by output. E#%ZELlEE

A + B + tax = net loss Include tax in net loss. FHEA &5

120-50=70 The remainder of 120 minus 50 is 70.

120/8:50896R 20470
output + profit Output is divided by profit. z=E =LA

postage &

"r "'ﬁ_’;

A discount #40
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